PARTER

BUDYNEK A

LOKAL 1.

Powierzchnia
mieszkalna:
37,7 m?

Powierzchnia
schodow:
2,2 m?

Powierzchnia

razem:
399 m?

LOKAL 2:

Powierzchnia
mieszkalna:
37,7 m?

Powierzchnia
schodow:
2,2 m?

Powierzchnia

razem:
399 m?
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PIETRO

BUDYNEK A

LOKAL 1.

Powierzchnia
mieszkalna:
26,6 m?

Powierzchnia
schodow:
1,6 Mm?

Powierzchnia

razem:
282 m?

LOKAL 2:

Powierzchnia
mieszkalna:
26,6 m?

Powierzchnia
schodéw:
1,6 m?

Powierzchnia
razem:
28,2 m?
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PODDASZE

BUDYNEK A

LOKAL 1:

Powierzchnia
mieszkalna:
31,4 m?

Powierzchnia
wysokos¢ 1,9 m
23,3 m?

Powierzchnia
schodoéw:
3,0 m?

Powierzchnia

razem:
26,3 m?

LOKAL 2:

Powierzchnia
mieszkalna:
31,4 m?

Powierzchnia
wysokos¢ 1,9 m
23,3 m?

Powierzchnia
schodow:
3,0m?

Powierzchnia

razem:
26,3 m?
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